
U
L

R
U
L

R
C

U
S

 
 
 
 
 
I
n
s
t
a
l
l
a
t
i
o
n
 
m
anu

a
l f

o
r

 
 
 
 
 
 
 
 
 
   

 
35

0
0D

24
C
/G

Dimensions :
 
D
23
.6
"H
9.
2
"
  L12

L
C
o
ll

ec
t
io

n 
: Polaris

B
ulb 

Type :
 L
ED
 P
CB 72W

 3
000K

Lamp Weight
 :

  
 33

.2
2
 L
BS

Total Weigh
t 

: 
 37

.8
 
 L
BS

Th
a
nk

 y
o
u 

fo
r
 c

h
oo

s
ing our product(s).

Our Company
 i

s 
act

iv
e
ly
 i
nvo

l
ve
d 
in
 e
ve
ry
 s
te
p 
of
 t
he

production.

Ou
r
 p

ro
d
uc

t(
s
) 

a
re

 
de

s
ig

ne
d to be utilized for every

a
pp

li
c
at

i
o
n 

t
h
at

 
gr

a
c
es

 your home or business.
W
e pr

ide ou
rs
el
ve
s in p

ro
vidi

ng
 t
he
 most 

pr
ompt and

c
o
u
rt

e
sy

 s
e
rv

i
ce

 t
o
 a

l
l 

of the valued customers.
Please find 

th
e 
en
cl
os
ed
 d
et
ai
le
d 
in
st
ru
ct
io
ns
 a
nd
 r
e
ad

c
a
r
ef

u
ll

y 
f
or

 
pr

op
e
r 

i
ns

t
allation. If you have any

q
ue

s
ti

o
n
s,

 o
u
r 

p
ro

fe
s
si

o
na

l customer service team is
c
ommi

tt
ed t

o assisting 
yo
u,
 p
le
ase 

ca
ll
 our

 toll free
HOTLINE AT:



P19



Step 1
Please use the parts list to ensure you are
not missing any parts.

3
5
0
0
D
2
4

 
P
A
R
T
S
 
L
I
S
T

ZD

ZE ZA

ZC

bracket system

1

M4*32 screw

dimmable LED driver

M4*40 screw

ZG

12121124

screw pad

M10*T5 nut

M10*20 connector

∅
23.6" S.S plate

P02

P03

P05

P06

P01

2448

24 24

12 12

P16

144

1212

44





 
    

 
 
 
  
 
 
 
 
C
o
n
g
r
a
t
u
l
a
t
i
o
n
s
!

Y
ou are now d

on
e inst

alling your Elegant lighting
fi

xt
u
re

.S
it

 b
ac

k 
an

d 
ad

m
ir

e 
each crystal as it will become

t
he

 s
ta

te
me

nt
 p

ie
c
e 

for your room/house.

I
f 
you re

quire any additional assistance,
p
le

as
e 

co
nt

ac
t 

u
s 

at 1-888-388-3390.

T
ha

nk
 you!

Cleaning and Maintenance Instruction

T
he fra

me
 and

 c
an
opy surf

ac
e 
is stainless

 poli
shed.

P
le
ase 

use 
a 
cl
ean,soft a

nd dry cloth to 
clean.

Do not 
use

a
ny har

d ob
je
ct or tools 

to
 s
cr
at
ch on the su

rf
ace of 

the
m
et
al. 

Fail
ur
e 
to
 f
ol
low

 
th
es
e 
in
st
ru
ct
ion

s
 automa

tically
v
oi

d
s
 t

he
 
guarantee.

Cleaning and Maintenance of Crystals
W
et
 a s

oft 
co
tt
on
 f
ab
ric

 
in
 c
le
an
 w
ar
m 
wat

e
r and w

ipe
ge

nt
l
y
, 

th
e
n 

p
o
li

s
h 

w
it

h
 
a dry soft cotton

 f
abric.

To Order Replacement Parts
P
le

as
e
 
co

n
t
ac

t
 
t
he

 s
t
o
re

 
w
he

re the pro
duct was purc

hased
or contact us at the ad

dress shown on the rever
se side

.
F
or
 eas

e of
 o
rd
ering, you

 may use the ori
ginal 

parts l
ist

,indicating the model n
umber,part number and qu

antity 
and

faxing it to our custom
er service department at

21
5-

4
2
3-

88
8
2.

 
Y
ou

 
wi

l
l 

b
e
 c

o
nt
acted with prices prior to

s
hi

p
m
en

t
.
 A

l
l
 
or

d
e
rs must be 

pre-paid.



E
l
e
ga

n
t
 L

ig
ht

in
g
 
Wa
r
r
an
t
y

The finish 
an
d fr

am
e of your 

ne
w 
chandelier

o
r
 
fi

xt
u
re

 
ar

e
 
w
ar

r
a
nt

ed for a period of two

(
2
) 

y
e
a
rs

 f
ro

m
 
th

e
 
d
ate of purchase. Our

c
o
mp

a
n
y
 w

i
l
l,

 
a
t 

i
ts option, repair or

re
pl

ac
e
 
an

y
 
fr

a
me

 
th

at has a defect in the
m
a
te

r
ia

l
s
 o

r
 w

or
k
m
an

sh
ip during the warranty

period. All
 c
ryst

al
s are guar

an
te
ed for their

o
rigina

l 
qu
al
it
y du

ring t
he l

ife 
of
 the

c
ha
nd
el
ie
r.
 B
reakag

e 
is not cov

er
ed
 b

y 
this

warra
nt
y.

To
 
ma

ke
 
a 

c
la

im
 
un

d
e
r
 this warranty, contact

o
u
r
 c

us
t
om

e
r 

s
e
r
vi

c
e department at the

a
dd
re
ss and p

ho
ne n

umbe
r 
sh
ow
n belo

w. A
writt

en
 ret

ur
n authorization fo

rm w
ill be

s
en
t to you w

ith spec
ific

 i
nstructions.

C
U
S
TO
M
E
R 

SE
R
V
I
C
E 

DE
P
A
R
T
M
E
NT

5
0
0-

5
5
0
 E

.
 
Erie Avenue

Ph
i
la

de
l
ph

i
a, PA 19134

Te
l
 :

 2
1
5-423-8880

Fa
x
 :

 2
1
5-423-8882

Re
tu

r
ns

 a
nd

 C
on

d
i
tions of Warranty

R
e
tu

r
n
s
 m

us
t 

be
 
p
re

-
a
u
th

orized by 
contacting our

c
usto

mer se
rv
ic
e 
d
epa

rt
me
n
t 
at
 t
he
 ad

d
re
ss
 o
n the

r
e
ve

r
s
e
 s

id
e.

 R
e
t
ur

n
s
 
wi

l
l only be 

accepted with a
w
ritten

 r
etu

rn
 me

r
ch
an
di
se
 a
ut
ho
ri
za
ti
on
 a
nd return

s
h
i
pp

i
n
g
 c

h
a
r
g
e
s
 
p
r
e
-
p
a
i
d
. We 

reserve the right to
i
nspe

ct
 all r

eturned me
rchandise to fully deter

mine the
n
at
ure of

 any defec
t.
 T
his guarante

e shall not 
apply t

o
a
ny produ

ct
 
th
at
 ha

s 
be
e
n 
ch
an
ge
d,
 a
lt
er
ed
 or other

wi
se

m
o
di

f
i
ed

, 
n
or

 s
h
a
ll

 
i
t 

a
pp

ly to any pr
oduct that 

ha
s

bee
n 
repaired or al

tered by anyone 
ot
her than 

a
pre

-a
uthorized faci

lity. We will no
t 
be respon

sible
 for

a
ny

 b
r
ea

k
a
g
e
 
o
r
 
d
a
m
a
g
e
s
 
i
n
curre

d during transit, nor
f
o
r
 c

r
y
s
ta

l
 
p
ar

ts
 
o
r 

m
e
ta

l
 frame part th

at hav
e 
been

s
u
b
je

c
t
 
to

 
m
i
s
u
s
e
,
 
n
e
g
l
i
g
e
n
ce, ac

cident or inappropriate
h
an
dling.

 Also, we 
wi
ll
 not be held

 responsible
 for

d
a
ma

ge
 i

n
c
u
r
r
e
d
 
d
u
r
i
n
g
 
i
m
pr

oper in
stallation or wiring

by
 o

t
he

r
s
, 

n
or

 
fo

r
 
d
am

a
ge

s
 resulting from a failure to

f
o
l
lo

w
 
t
he

 
r
e
co

mm
e
n
de

d
 
ma

intenance or
 installation

pro
ce
dures. This gu

arantee is issue
d 
in lieu o

f any
 and

a
ll other

 g
u
ar
an
tee

d 
or
 
wa
rr
an
te
e,
 w
he
th
er
 written 

or
i
m
p
li

e
d 

a
nd

 
a
ny

 
an

d
 a

l
l other

 obligations or
l
iabi

li
ties. 

Further, w
e neither authorize nor 

permit
a
ny

 o
t
he

r
 
p
e
r
s
o
n
 
o
r
 
f
i
r
m 
to assume for us, any

l
i
a
bi

l
it

y
 i

n
 
co

n
ne

c
ti

o
n
 w

i
t
h the sale 

of our produc
ts.


